Step 1
What

Theme:
Goal of project.
What area to work on.

Measure:
How will improvement be
measured?

Reason:
How and why is this
theme being worked on?

Problem & Theme

Project Solution Bridge

Solution = bridge from problem to implementation

y

Result/Process Control:

Step 2
o
Strategy 1: Cause 1: Action 1: Implement:
Reduce xyz . |What cause may affect »|How to remove causes Put system in action.
" |measure 1: " |strategy 1 of problem.
Measure 1: Make Routine:
Measure 1: Make sure improved
Strategy 2: Measure success. system is used from
Increase abc Cause 2: now on.
Measure 2: Why do they do xyz?
Measure 2:
Strategy N: Action N:
Eliminate/Improve qrs Cause N N
Measure N: Why don't they do abc? Measure N:
Measure N:

Determining HOBI (Hunches, Opinions,
Beliefs, Intuitions) on the problem.

HOBI causes

- Aggregate many causes into 1-2 IF key causes
l.e, common causes can be found for a strategy.
- Aggregating strategies depends on whether

measure(s) are the same are not.

- Make strategies explicit!

Measures dictate solutions: Easily measurable solutions tend to be favored over difficult ones.

Leverage comes from measure(s).

Identifying relationship between steps is more important than completing each step perfectly.
This is why parallel processing works: one uncertainty I.e., in solution may lead to more

causal analysis.

When analyzing causes, look for barriers against strategies.

\ 4 v
[ Design | [ Implementation |

2 Possibilities

2) Deal with causes;
possibly root causes
l.e. re-design is
necessary

1) Deal with symptoms I

Prioritize and select.
Let your client/customer determine the solution and give you
assurance that it will be accepted!

Check to see that needs
are being met.

Modify:
If not functioning properly.

Measure:
Measure success.

Learnings:

Summarize and
document learnings
and improvements.

Future Plans:

What actions
should/should not be
taken in the future?

PDCA Learning Cycle |

Learning I

|Plan |_;| Do |

y

Act Check

Make learnings visible




